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CHEMISTRY — GENERAL

Fourth Paper
(Group —A)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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Answer any six questions, taking one from each Unit.

All questions carry equal marks.

CGT - 31a
Unit - I
What do you mean by primary standard solution? Between K,Cr,0, and KMnO, which one is
primary standard solution and why?

Discuss the principle for the gravimetric estimation of cu*.

What do you mean by iodometry and iodimetry? Give examples.

What do you mean by solubility product?

State the operating principle of column chromatography.

Calculate equivalent weight of KMnO, in acid medium.

How do you prepare 250 mL (%) K,Cr,0 solution? Show the calculation.
Name the indicator used in the complexometric estimation of magnesium by EDTA. Give its structure.

Write down the structure of both complexes formed during the addition of EDTA in a mixture of
Ca’* and Mg2+ ions. Which complex is more stable?

Name one acid-base indicator, metal ion indicator, redox indicator.

Unit - 11
The normality of a solution is determined by four separate titrations, the results being 0.2041, 0.2049,
0.2039 and 0.2043. Calculate mean, median and standard deviation.

What is the difference between accuracy and precision in quantitative analysis?

Explain hardware and software with suitable examples.

What do you mean by RAM and ROM of a computer?

Convert the decimal number 13 into binary number and binary number 1001 into decimal number.

The result of a quantitative analysis is 21.39 gm compared with the accepted value of 20.00 gm.
What is the relative error?
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CGT - 31b
Unit - 1

What is meant by catalytic cracking of petroleum? Write its advantages over thermal cracking.

What is antiknock agent? Give an example.

How is LNG obtained? Give the name of its main constituents.

How is LPG leak detected?

Give the flowchart for the industrial production of ammonium sulphate.

What do you mean by mixed fertilizer? Give example.

Write the reaction of industrial manufacture of ammonia. Give two examples of ammonium fertilizers.

Mention two compounds which are used to make coloured glass.
What are the chemical compositions of portland cement? What is white cement?
What do you mean by photochromatic glass? Write the use of it.

Unit - II

Name a homopolymer and copolymer with their structural configuration.

What are the ingredients present in the varnishes? Write down the uses of vernishes.

Describe, in brief, the method of manufacturing lactic acid by fermentation process.

What is latex paint? What is the demerit of using it?
How PVC is prepared? Give reactions. State uses of PVC.
What is the advantage of using synthetic rubber over natural rubber?
CGT - 3lc
Unit - 1

What are biodegradable and non-biodegradable pollutants? Give example in each case.

Acid rain is known to contain some acids. Name these acids and where from they come in air.

What do you mean by greenhouse effect? Which substances are responsible for greenhouse effect?

What is the importance of measuring BOD of a water body?

How ozone layer is formed and what is the importance of ozone layer in atmosphere?

What are the toxic effects of lead and mercury?
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20. (a) What is eutrofication? How can it be minimised?

(b) What do you mean by ‘PAN’? What is its effect on plants?

21. (a) What are the adverse effects of CO and SO, in air?

(b) How is soil polluted by agricultural waste?

Unit - 11
22. (a) Write the chemical structure of DDT. How is it prepared?

(b) Mention uses of parathion.

23. (a) Name an artificial sweeteners. Mention harmful effects of food preservatives.

(b) Give two examples of colouring agent of food.

24. (a) What is MSG? Write its use.

(b) What is liquid soap? What is the advantage of using it? What is the difference between soap and
detergent?




